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1 519 F— LA 25 JA 3HF[034544%)
2 525 Ho=U A 24 J& 3EET0245 210
3 524 Hxb~7 23 J& 3HERT0545 18F)
4 529 AN 23 JA 3HF[064341F)
5 518 P ~#k 22 JA 3HF[004339F)
6 521 L7y 7 A 22 JA 30343005
7 515 TIN—=T N 22 JA SHFR064748F)
8 513 F— L EE 21 J& SHEREI044554F)
9 530 +o~<1U /B 21 J& 3HE054y54%)
10 512 F—IM: 12 20 JA 3HF[024557F)
11 528 F— A KFn 20 JA 3HF054307F)
12 527 VDO ) 20 )& 3T 054y 58F)
13 522 b zFEFHA 20 JA 30643 28F)
14 516 FAE-A 20 J& SEERI0747 115D
15 517 L AR 20 JA SHF104341%)
16 523 BbhEdtia 19 J& 3HF[024523F)
17 520 FAE-B 19 & 303450150
18 526 7 RA A 19 J& 3EERT 0645005
19 514 TIPPER 18 J& 3EET094y32F)
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